Problema 6.3

m

Volumul sarmei din ghem V =— (1.0p)
P
=89-3 —go00 Y (0.5p)
cm m
numeric v = 218K9 _g 0002 m? (0.5 p.)
8900ﬁ

a) m?® 4.0p.

Lungimea sirmei | = S (1.0p)

2 mm? = 0,000002 m? (0.5p)

. 0,0002m*
Numeric | =———=100m (0.5p.)
0,000002 m?
m

Masa 1 m de sdrma m, = T (0.5p.)

lkg=1 SpP.

Numeric m, == =0,0178 kg =17,8¢g (0.5p)

m

Volumul sarmei V=S:1; (10p)

Masa sarmei de cupru m, = p,SI, (0.5p,)

Masa sarmei de aluminiu m, = p, S, (05p.)

m =m, (0.5p)) = pSl = p,Sl, (05p) =
o= ,=£1), (1.0p) 450p.

P
89-J
Numeric I, =—CM .1m=~33m (0.5p.)
2,79
cm
Total max |10.0 p.




